VILLAGE OF LOMBARD REQUEST FOR BOARD OF TRUSTEES ACTION

For Inclusion on Board Agenda Bids and Proposals

TO :	President and	d Village Board of Tr	rustees	
FROM :	Scott Niehaus	s, Village Manager		
DATE :	February 27,	2018 Agenc	la Date: March 15, 2	018
TITLE :	Bid Waiver fo	or: <u>Tree Planting</u>		
SUBMITTED BY:	Eric Hendric	kson, Forestry & Urb	oan Landscape Supe	rvisor
RESULTS:				
Date Bids Were Pub	lished	_Bidding Closed		
Total Number of Bio				
Total Number of Bio		g Specifications	Yes	No
Bid Security Require		-	Yes	_No
Performance Bond	_		Yes	_No
Were Any Bids Wit	narawn	-	_165	_140
Explanation:	unastad?	X	Yes	No
Waiver of Bids Require	uesteu:		_105	
If yes, explain:				
Award Recommend	ded to Lowest	· · · · · · · · · · · · · · · · · · ·	_Yes	_No
Responsible Bidder	?			
If no, explain:				
FISCAL IMPACT:	19 1	, dogo 000 00		
Engineer's estimate	/budget estin	nate \$228,000.00		
Amount of Award	\$150,000.00	410.710.725.75770	RM PROG 04	
	\$75,000.00	240.270.112.75350	STC TREE PLANT	
	\$3,000.00	101. 270.325.75350		_
BACKGROUND/I See attached memo.	RECOMMEN	DATION:		
Has Possmander	I Ridder Worl	ked for Village Previ	ously X Yes _	No
If yes, was quality			X Yes	No
Was item bid in acc	cordance with	Public Act 85-1295?		No
Waiver of bids - Pu			XYes	
REVIEW (as needed):		11 7		
	X		Date	_
Finance Director X	X		Date	
Village Manager X	X		Date	_

NOTE: All materials must be submitted to and approved by the Village Manager's Office by 12:00 noon, Wednesday, prior to the Board Agenda distribution.



To:

Scott Niehaus, Village Manager

Through:

Carl Goldsmith, Director of Public Works

From:

Eric Hendrickson, Forestry & Urban Landscape Supervisor

Date:

February 27, 2018

Subject:

Tree Consortium Bid waiver

On August 4, 1988, the Village Board approved participation in the Suburban Tree Consortium. Representing 45 member communities, this organization handles the tree planting bid process in accordance with State of Illinois law. As a member, the Village must commit to a lead-time of five years for the purchase of trees grown based upon projected orders for trees.

\$228,000.00 is currently budgeted for parkway tree planting for FY18. This figure represents approximately 600 trees that will be planted in the Spring & Fall of 2018 planting seasons. As a formality, the Village Attorney has recommended waiving bids and approval of this payment.

On March 18, 1999, the Village Board approved the planting of parkway trees through the Consortium on *Capital Improvement Projects* as part of projects in the CIP budget. Beginning with FY12B, the CIP included funds for the removal and replacement of parkway trees lost to the emerald ash borer. \$150,000.00 is currently budgeted in the FY18 CIP RM Program 04 for tree planting in 2018 for approximately 420 of the aforementioned 600 trees.

The Suburban Tree Consortium provides top quality trees grown specifically for parkway conditions. We have received a superior product in the past and recommend waiver of bids in an amount not to exceed \$228,000.00 for trees from the Suburban Tree Consortium for FY18.

Please place this item on the Village Board agenda for March 15, 2018.

SPRING 2018	TREE SPECIES- HINSDALE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" STE	RLING SILVER LINDEN	9	\$166.00	\$1,494.00	\$22.00	\$86.00	\$2,466.00	\$274.00
2.5" STI	ERLING SILVER LINDEN	11	\$182.00	\$2,002.00	\$24.00	\$91.00	\$3,267.00	\$297.00
2" (Greenspire LL LINDEN	5	\$166.00	\$830.00	\$22.00	\$86.00	\$1,370.00	\$274.00
2"	REDMOND LINDEN	5	\$166.00	\$830.00	\$22.00	\$86.00	\$1,370.00	\$274.00
2" CRES	SCENDO SUGAR MAPLE	5	\$187.00	\$935.00	\$22.00	\$86.00	\$1,475.00	\$295.00
2" Autum	n Fest SUGAR MAPLE (add)	5	\$187.00	\$935.00	\$22.00	\$86.00	\$1,475.00	\$295.00
2" RE	DPOINTE RED MAPLE	20	\$234.00	\$4,680.00	\$22.00	\$86.00	\$6,840.00	\$342.00
2" IVOR	Y SILK JAP TREE LILAC	20	\$225.00	\$4,500.00	\$22.00	\$86.00	\$6,660.00	\$333.00
2" A	ADAMS CRABAPPLE	10	\$135.00	\$1,350.00	\$22.00	\$86.00	\$2,430.00	\$243.00
2" SUG	AR TYME CRABAPPLE	10	\$135.00	\$1,350.00	\$22.00	\$86.00	\$2,430.00	\$243.00
3' CORAL	BURST CRABAPPLE (STD)	5	\$189.00	\$945.00	\$22.00	\$86.00	\$1,485.00	\$297.00
2" 'GOLI	DEN GLORY' DOGWOOD	10	\$205.00	\$2,050.00	\$22.00	\$86.00	\$3,130.00	\$313.00
2	2" TRIUMPH ELM	15	\$219.00	\$3,285.00	\$22.00	\$86.00	\$4,905.00	\$327.00
2'	PRINCETON ELM	10	\$219.00	\$2,190.00	\$22.00	\$86.00	\$3,270.00	\$327.00
	: 	140		\$27,376.00			\$42,573.00	\$295.29

SPRING 2018	TREE SPECIES- BEAVER CREEK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" SHAV	VNEE BRAVE BALD CYPRESS	15	\$255.00	\$3,825.00	\$22.00	\$86.00	\$5,445.00	\$363.00
2"]	RED JEWEL CRABAPPLE	0	\$105.00	\$0.00	\$22.00	\$86.00	\$0.00	\$213.00
2" ROY	AL RAINDROPS CRABAPPLE	10	\$105.00	\$1,050.00	\$22.00	\$86.00	\$2,130.00	\$213.00
2" 'CH	IICAGOLAND' HACKBERRY	20	\$215.00	\$4,300.00	\$22.00	\$86.00	\$6,460.00	\$323.00
2"	TURKISH FILBERT (SPR)	10	\$225.00	\$2,250.00	\$22.00	\$86.00	\$3,330.00	\$333.00
	2" IRONWOOD (SPR)	10	\$235.00	\$2,350.00	\$22.00	\$86.00	\$3,430.00	\$343.00
	2" TRIUMPH ELM	10	\$215.00	\$2,150.00	\$22.00	\$86.00	\$3,230.00	\$323.00
	2" CHINKAPIN OAK	15	\$225.00	\$3,375.00	\$22.00	\$86.00	\$4,995.00	\$333.00
2" REG	GAL PRINCE ENGLISH OAK	0	\$225.00	\$0.00	\$22.00	\$86.00	\$0.00	\$333.00
	2" HERITAGE OAK	15	\$225.00	\$3,375.00	\$22.00	\$86.00	\$4,995.00	\$333.00
		105		\$22,675.00			\$34,015.00	\$311.00

SPRING 2018	TREE SPECIES -		A CONTRACTOR OF					INDIVID
	GOODMARK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	TREE COST
2" 'FORT	MCNAIR' HORSECHESTNUT	10	\$204.00	\$2,040.00	\$22.00	\$86.00	\$3,120.00	\$312.00
2" RED I	HORSECHESTNUT 'BRIOTTI'	10	\$204.00	\$2,040.00	\$22.00	\$86.00	\$3,120.00	\$312.00
2'	YELLOW BUCKEYE	10	\$204.00	\$2,040.00	\$22.00	\$86.00	\$2,550.00	\$255.00
	2" RIVER BIRCH	10	\$150.00	\$1,500.00	\$22.00	\$86.00	\$3,340.00	\$334.00
2" 'PRAIF	RIE SENTINEL' HACKBERRY	5	\$157.00	\$785.00	\$22.00	\$86.00	\$1,590.00	\$318.00
2" AM	IERICAN YELLOWWOOD	10	\$226.00	\$2,260.00	\$22.00	\$86.00	\$2,780.00	\$278.00
2" 'GO]	LDEN GLORY' DOGWOOD	0	\$147.00	\$0.00	\$22.00	\$86.00	\$0.00	\$303.00
2	" MAGYAR GINKGO	10	\$257.00	\$2,570.00	\$22.00	\$86.00	\$1,080.00	\$108.00
2" TI	HE PRESIDENT GINKGO	10	\$257.00	\$2,570.00	\$22.00	\$86.00	\$1,080.00	\$108.00
2"]	HARDY RUBBER TREE	10	\$170.00	\$1,700.00	\$22.00	\$86.00	\$1,080.00	\$108.00
2	"TRICOLOR BEECH	10	\$210.00	\$2,100.00	\$22.00	\$86.00	\$3,180.00	\$318.00
2" 'HAPPIDAZE	' SWEETGUM (sub WORPLESDON)	10	\$170.00	\$1,700.00	\$22.00	\$86.00	\$2,780.00	\$278.00
2"	SWAMP WHITE OAK	10	\$173.00	\$1,730.00	\$22.00	\$86.00	\$2,810.00	\$281.00
2" 'AM	ERICAN SENTRY' LINDEN	10	\$173.00	\$1,730.00	\$22.00	\$86.00	\$2,810.00	\$281.00
2"	PERSIAN IRONWOOD	10	\$195.00	\$1,950.00	\$22.00	\$86.00	\$3,030.00	\$303.00

\$34,350.00 \$259.80

380

SPRING 2018

\$110,938.00

FALL 2018	TREE SPECIES- HINSDALE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
OII SDI	RING SNOW CRABAPPLE	10	\$135.00	\$1,350.00	\$22.00	\$86.00	\$2,430.00	\$243.00
	RY SILK JAP TREE LILAC	20	\$225.00	\$4,500.00	\$22.00	\$86.00	\$6,660.00	\$333.00
	NA SNOW PEKING LILAC	10	\$174.00	\$1,740.00	\$22.00	\$86.00	\$2,820.00	\$282.00
	ESCENDO SUGAR MAPLE	5	\$187.00	\$935.00	\$22.00	\$86.00	\$1,475.00	\$295.00
	nn Fest SUGAR MAPLE (add)	5	\$188.00	\$940.00	\$22.00	\$86.00	\$1,480.00	\$296.00
	KYLINE HONEYLOCUST	10	\$172.00	\$1,720.00	\$22.00	\$86.00	\$2,800.00	\$280.00
	ERLING SILVER LINDEN	10	\$166.00	\$1,660.00	\$22.00	\$86.00	\$2,740.00	\$274.00
	Greenspire LL LINDEN	5	\$166.00	\$830.00	\$22.00	\$86.00	\$1,370.00	\$274.00
	" REDMOND LINDEN	5	\$166.00	\$830.00	\$22.00	\$86.00	\$1,370.00	\$274.00
	L BURST CRABAPPLE (STD)	10	\$179.00	\$1,790.00	\$22.00	\$86.00	\$2,870.00	\$287.00
		90		\$16,295.00			\$26,015.00	\$283.80

FALL 2018 TREE SPECIES- BEAVER CREEK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" RED JEWEL CRABAPPLE	5	\$120.00	\$600.00	\$22.00	\$86.00	\$1,140.00	\$228.00
2" ROYAL RAINDROPS CRABAPPLE	5	\$120.00	\$600.00	\$22.00	\$86.00	\$1,140.00	\$228.00
2" STATE ST MIYABE MAPLE	10	\$199.00	\$1,990.00	\$22.00	\$86.00	\$3,070.00	\$307.00
2" SHAWNEE BRAVE BALD CYPRESS	10	\$270.00	\$2,700.00	\$22.00	\$86.00	\$3,780.00	\$378.00
	30		\$5,890.00			\$9,130.00	\$285.25

FALL 2018 TREE SPECIES - SPRING GROVE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'CHICAGOLAND' HACKBERRY	15	\$190.00	\$2,850.00	\$31.00	\$86.00	\$4,605.00	\$307.00
2" 'ESPRESSO' KENTUCKY COFFEETREE	15	\$229.00	\$3,435.00	\$31.00	\$86.00	\$5,190.00	\$346.00
2" FALL FIESTA SUGAR MAPLE	20	\$197,00	\$3,940.00	\$31.00	\$86.00	\$6,280.00	\$314.00
2" 'EMERALD SUNSHINE' ELM	15	\$197.00	\$2,955.00	\$31.00	\$86.00	\$4,710.00	\$314.00
2" 'TRIUMPH' ELM	10	\$197.00	\$1,970.00	\$31.00	\$86.00	\$3,140.00	\$314.00
Z IRIOMITI DEM	75		\$15,150.00			\$23,925.00	\$319.00
	195			FALL 2018		\$59,070.00	
	575			FY 2018		\$170,008.00	

SPRING 2019 TREE SPECIES- HINSDALE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" STERLING SILVER LINDEN	20	\$166.00	\$3,320.00	\$23.00	\$88.00	\$5,540.00	\$277.00
2" Greenspire LL LINDEN	10	\$166.00	\$1,660.00	\$23.00	\$88.00	\$2,770.00	\$277.00
2" REDMOND LINDEN	10	\$166.00	\$1,660.00	\$23.00	\$88.00	\$2,770.00	\$277.00
2" IVORY SILK JAP TREE LILAC	10	\$225.00	\$2,250.00	\$23.00	\$88.00	\$3,360.00	\$336.00
2" ADAMS CRABAPPLE	10	\$135.00	\$1,350.00	\$23.00	\$88.00	\$2,460.00	\$246.00
2" SUGAR TYME CRABAPPLE	15	\$135.00	\$2,025.00	\$23.00	\$88.00	\$3,690.00	\$246.00
2" TRIUMPH ELM	15	\$190.00	\$2,850.00	\$23.00	\$88.00	\$4,515.00	\$301.00
2" PRINCETON ELM	10	\$190.00	\$1,900.00	\$23.00	\$88.00	\$3,010.00	\$301.00
Z TRINOLION DIM	100		\$17,015.00			\$25,105.00	\$282.63

SPRING 2019	TREE SPECIES- BEAVER CREEK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" SHAW	NEE BRAVE BALD CYPRESS	5	\$270.00	\$1,350.00	\$23.00	\$88.00	\$1,905.00	\$381.00
2" ROYA	AL RAINDROPS CRABAPPLE	5	\$120.00	\$600.00	\$23.00	\$88.00	\$1,155.00	\$231.00
2" T	URKISH FILBERT (SPR)	10	\$230.00	\$2,300.00	\$23.00	\$86.00	\$3,390.00	\$339.00
2	" BLUE BEECH (SPR)	10	\$255.00	\$2,550.00	\$23.00	.\$86.00	\$3,640.00	\$364.00
2	2" IRONWOOD (SPR)	10	\$255.00	\$2,550.00	\$23.00	\$86.00	\$3,640.00	\$364.00
	2" TRIUMPH ELM	5	\$230.00	\$1,150.00	\$23.00	\$88.00	\$1,705.00	\$341.00
:	2" CHINKAPIN OAK	10	\$240.00	\$2,400.00	\$23.00	\$88.00	\$3,510.00	\$351.00
2" REG	AL PRINCE ENGLISH OAK	10	\$240.00	\$2,400.00	\$23.00	\$88.00	\$3,510.00	\$351.00
	2" HERITAGE OAK	10	\$240.00	\$2,400.00	\$23.00	\$88.00	\$3,510.00	\$351.00
		75		\$17,700.00			\$25,965.00	\$341.44

175 SPRING 2019 \$51,070.00

FALL 2019	TREE SPECIES- HINSDALE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" SPRING	G SNOW CRABAPPLE	5	\$135.00	\$675.00	\$23.00	\$88.00	\$1,230.00	\$246.00
2" IVORY	SILK JAP TREE LILAC	10	\$225.00	\$2,250.00	\$23.00	\$88.00	\$3,360.00	\$336.00
2" SKYL	INE HONEYLOCUST	15	\$172.00	\$2,580.00	\$23.00	\$88.00	\$4,245.00	\$283.00
2" STERL	ING SILVER LINDEN	20	\$166.00	\$3,320.00	\$23.00	\$88.00	\$5,540.00	\$277.00
2" Gree	enspire LL LINDEN	10	\$166.00	\$1,660.00	\$23.00	\$88.00	\$2,770.00	\$277.00
2" RE	DMOND LINDEN	10	\$166.00	\$1,660.00	\$23.00	\$88.00	\$2,770.00	\$277.00
3' CORAL BU	JRST CRABAPPLE (STD)	10	\$179.00	\$1,790.00	\$23.00	\$88.00	\$2,900.00	\$290.00
		80		\$13,935.00			\$22,815.00	\$283.71

FALL 2019 TREE SPECIES- BEAVER CREEK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" ROYAL RAINDROPS CRABAPPLE	0	\$145.00	\$0.00	\$22.00	\$88.00	\$0.00	\$255.00
2" TURKISH FILBERT (SPR)	0	\$260.00	\$0.00	\$22.00	\$88.00	\$0.00	\$370.00
2" BLUE BEECH (SPR)	0	\$275.00	\$0.00	\$22.00	\$88.00	\$0.00	\$385.00
2" IRONWOOD (SPR)	0	\$270.00	\$0.00	\$22.00	\$88.00	\$0.00	\$380.00
2" SHAWNEE BRAVE BALD CYPRESS	0	\$285.00	\$0.00	\$22.00	\$88.00	\$0.00	\$395.00
MOVED TO SPRING 2020							
	0		\$0.00			\$0.00	\$357.00
	00			E477 0010			

80 FALL 2019 \$22,815.00 255 FY 2019 \$73,885.00

SPRING 2020 HINSDALI	TREE SPECIES-	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'GREEN COLUMN' BI	LACK MAPLE	10	\$236.00	\$2,360.00	\$23.00	\$89.00	\$3,480.00	\$348.00
2" 'FRANS FONTAIN	TE' BEECH	5	\$233.00	\$1,165.00	\$23.00	\$89.00	\$1,725.00	\$345.00
2" 'CHICAGOLAND' H	ACKBERRY	5	\$217.00	\$1,085.00	\$23.00	\$89.00	\$1,645.00	\$329.00
2" 'PURPLE PRINCE' (CRABAPPLE	5	\$142.00	\$710.00	\$23.00	\$89.00	\$1,270.00	\$254.00
2" 'EMERALD SUNS	HINE' ELM	10	\$219.00	\$2,190.00	\$23.00	\$89.00	\$3,310.00	\$331.00
2" 'CONTINENTAL APPEA	AL' AM LINDEN	10	\$204.00	\$2,040.00	\$23.00	\$89.00	\$3,160.00	\$316.00
2" BALD CYPF	RESS	5	\$203.00	\$1,015.00	\$23.00	\$89.00	\$1,575.00	\$315.00
		50		\$10,565.00	\$23.00		\$16,165.00	\$319.71

SPRING 2020 TREE SPECIES- BEAVER CREEK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" ROYAL RAINDROPS CRABAPPLE	10	\$145.00	\$1,450.00	\$23.00	\$89.00	\$2,570.00	\$257.00
2" TURKISH FILBERT (SPR)	10	\$260.00	\$2,600.00	\$23.00	\$89.00	\$3,720.00	\$372.00
2" BLUE BEECH (SPR)	5	\$275.00	\$1,375.00	\$23.00	\$89.00	\$1,935.00	\$387.00
2" IRONWOOD (SPR)	5	\$270.00	\$1,350.00	\$23.00	\$89.00	\$1,910.00	\$382.00
2" SHAWNEE BRAVE BALD CYPRESS	10	\$285.00	\$2,850.00	\$23.00	\$89.00	\$3,970.00	\$397.00
	40		\$9,625.00			\$14,105.00	\$359.00

SPRING 2020 TREE SPECIES - GOODMARK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'FALL FIESTA' SUGAR MAPLE	10	\$181.00	\$1,810.00	\$23.00	\$89.00	\$2,930.00	\$293.00
2" 'AUTUMN SPLENDOR' HORSECHESTNUT	10	\$215.00	\$2,150.00	\$23.00	\$89.00	\$3,270.00	\$327.00
2" 'PRAIRIE SENTINEL' HACKBERRY	5	\$181.00	\$905.00	\$23.00	\$89.00	\$1,465.00	\$293.00
2" AMERICAN YELLOWWOOD	5	\$237.00	\$1,185.00	\$23.00	\$89.00	\$1,745.00	\$349.00
2" 'GOLDEN GLORY' DOGWOOD	5	\$154.00	\$770.00	\$23.00	\$89.00	\$1,330.00	\$266.00
2" TRICOLOR BEECH	10	\$247.00	\$2,470.00	\$23.00	\$89.00	\$3,590.00	\$359.00
2" 'AUTUMN GOLD' GINKGO	10	\$269.00	\$2,690.00	\$23.00	\$89.00	\$3,810.00	\$381.00
2" 'ESPRESSO' KENTUCKY COFFEETREE	10	\$215.00	\$2,150.00	\$23.00	\$89.00	\$3,270.00	\$327.00
2" 'HAPPIDAZE' SWEETGUM	5	\$215.00	\$1,075.00	\$23.00	\$89.00	\$1,635.00	\$327.00
2" 'AMERICAN DREAM' SWAMP WHITE OAK	5	\$181.00	\$905.00	\$23.00	\$89.00	\$1,465.00	\$293.00
2" HILL"S OAK	5	\$181.00	\$905.00	\$23.00	\$89.00	\$1,465.00	\$293.00
2" SHINGLE OAK	5	\$181.00	\$905.00	\$23.00	\$89.00	\$1,465.00	\$293.00
2" CHINQUAPIN OAK	5	\$181.00	\$905.00	\$23.00	\$89.00	\$1,465.00	\$293.00
2" 'FRONTIER' ELM	10	\$181.00	\$1,810.00	\$23.00	\$89.00	\$2,930.00	\$293.00
	100		\$20,635.00			\$31,835.00	\$313.36
	190			SPRING 2020)	\$62,105.00	

FALL 2020	TREE SPECIES- HINSDALE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'CRE	SCENDO' SUGAR MAPLE	10	\$218.00	\$2,180.00	\$23.00	\$89.00	\$3,300.00	\$330.00
2" 'CHIO	CAGOLAND' HACKBERRY	10	\$222.00	\$2,220.00	\$23.00	\$89.00	\$3,340.00	\$334.00
2"	'MAGYAR' GINKGO	10	\$280.00	\$2,800.00	\$23.00	\$89.00	\$3,920.00	\$392.00
	2" BALD CYPRESS	5	\$203.00	\$1,015.00	\$23.00	\$89.00	\$1,575.00	\$315.00
2" 'SU	GAR TYME' CRABAPPLE	5	\$147.00	\$735.00	\$23.00	\$89.00	\$1,295.00	\$259.00
2" 'BEI	IING GOLD' PEKIN LILAC	5	\$199.00	\$995.00	\$23.00	\$89.00	\$1,555.00	\$311.00
2" ALL	EGHENY SERVICEBERRY	5	\$209.00	\$1,045.00	\$23.00	\$89.00	\$1,605.00	\$321.00
2" 'EXCLAM	IATION' LONDON PLANETREE	5	\$215.00	\$1,075.00	\$23.00	\$89.00	\$1,635.00	\$327.00
2" 'AMI	ERICAN SENTRY' LINDEN	10	\$207.00	\$2,070.00	\$23.00	\$89.00	\$3,190.00	\$319.00
2" 'STI	ERLING' SILVER LINDEN	10	\$195.00	\$1,950.00	\$23.00	\$89.00	\$3,070.00	\$307.00
		75		\$16,085.00			\$24,485.00	\$321.50

FALL 2020 75 \$24,485.00 FY2020 \$86,590.00 265

SPRING 2021 TREE SPECIES- HINSDALE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'STATE STREET' MAPLE	10	\$220.00	\$2,200.00	\$24.00	\$91.00	\$3,350.00	\$335.00
2" 'FRANS FONTAINE' BEECH	5	\$236.00	\$1,180.00	\$24.00	\$91.00	\$1,755.00	\$351.00
2" 'CHICAGOLAND' HACKBERRY	5	\$222.00	\$1,110.00	\$24.00	\$91.00	\$1,685.00	\$337.00
2" 'EMPEROR' GINKGO	10	\$280.00	\$2,800.00	\$24.00	\$91.00	\$3,950.00	\$395.00
2" 'BEIJING GOLD' PEKIN LILAC	10	\$199.00	\$1,990.00	\$24.00	\$91.00	\$3,140.00	\$314.00
2" 'HERITAGE' OAK	5	\$246.00	\$1,230.00	\$24.00	\$91.00	\$1,805.00	\$361.00
2" BALD CYPRESS	5	\$203.00	\$1,015.00	\$24.00	\$91.00	\$1,590.00	\$318.00
	50		\$11,525.00			\$17,275.00	\$344.43

SPRING 2021	TREE SPECIES -	8123					South The same	INDIVID
	GOODMARK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	TREE COST
2" '	REDPOINTE' RED MAPLE	10	\$218.00	\$2,180.00	\$24.00	\$91.00	\$3,330.00	\$333.00
	2" YELLOW BUCKEYE	5	\$226.00	\$1,130.00	\$24.00	\$91.00	\$1,705.00	\$341.00
2" 'PRA	IRIE SENTINEL' HACKBERRY	5	\$190.00	\$950.00	\$24.00	\$91.00	\$1,525.00	\$305.00
2" A	MERICAN YELLOWWOOD	5	\$249.00	\$1,245.00	\$24.00	\$91.00	\$1,820.00	\$364.00
2'	" HARDY RUBBER TREE	5	\$190.00	\$950.00	\$24.00	\$91.00	\$1,525.00	\$305.00
2" 'RED	OBELISK' EUROPEAN BEECH	5	\$259.00	\$1,295.00	\$24.00	\$91.00	\$1,870.00	\$374.00
	2" TRICOLOR BEECH	5	\$259.00	\$1,295.00	\$24.00	\$91.00	\$1,870.00	\$374.00
	2" DAWN REDWOOD	5	\$192.00	\$960.00	\$24.00	\$91.00	\$1,535.00	\$307.00
2" '	'MORRAINE' SWEETGUM	5	\$226.00	\$1,130.00	\$24.00	\$91.00	\$1,705.00	\$341.00
	2" SHUMARD OAK	5	\$199.00	\$995.00	\$24.00	\$91.00	\$1,570.00	\$314.00
2" OSTR	YA VIRGINIANA (HopHornbean)	5	\$214.00	\$1,070.00	\$24.00	\$91.00	\$1,645.00	\$329.00
2" 'RUB'	Y VASE' PARROTICA PERSICA	5	\$243.00	\$1,215.00	\$24.00	\$91.00	\$1,790.00	\$358.00
		65		\$14,415.00			\$21,890.00	\$337.08

SPRING 2021 TREE SPECIES- BEAVER CREEK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'FIRESPIRE' HORNBEAM	10	\$285.00	\$2,850.00	\$24.00	\$91.00	\$4,000.00	\$400.00
2" PRAIRIE TITAN KENTUCKY COFFEETREE	10	\$285.00	\$2,850.00	\$24.00	\$91.00	\$4,000.00	\$400.00
2" BLACK TUPELO	10	\$255.00	\$2,550.00	\$24.00	\$91.00	\$3,700.00	\$370.00
	30		\$8,250.00			\$11,700.00	\$390.00
	145		<u></u>	SPRING 2021		\$50,865.00	

FALL 2021 TF HINSDALE	REE SPECIES- QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" KENTUCKY COFFEET	REE 5	\$238.00	\$1,190.00	\$24.00	\$94.00	\$1,780.00	\$356.00
2" 'PURPLE PRINCE' CRABA	APPLE 5	\$154.00	\$770.00	\$24.00	\$94.00	\$1,360.00	\$272.00
2" 'SUN VALLEY RED' RED	MAPLE 10	\$224.00	\$2,240.00	\$24.00	\$94.00	\$3,420.00	\$342.00
2" 'CRIMSON SUNSET' MA	APLE 10	\$231.00	\$2,310.00	\$24.00	\$94.00	\$3,490.00	\$349.00
2" 'EXCLAMATION' LONDON PI	LANETREE 5	\$215.00	\$1,075.00	\$24.00	\$94.00	\$1,665.00	\$333.00
	35		\$7,585.00			\$11,715.00	\$330.40

FALL 2021	TREE SPECIES - SPRING GROVE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'GR	EEN MOUNTAIN' SILVER LINDEN	10	\$214.00	\$2,140.00	\$34.00	\$94.00	\$3,420.00	\$342.00
2" 'IVO	RY PILLAR' JAPANESE TREE LILAC	10	\$258.00	\$2,580.00	\$34.00	\$94.00	\$3,860.00	\$386.00
	2" 'NEW HORIZON' ELM	10	\$228.00	\$2,280.00	\$34.00	\$94.00	\$3,560.00	\$356.00
	2" 'FIREBIRD' CRABAPPLE	5	\$199.00	\$995.00	\$34.00	\$94.00	\$1,635.00	\$327.00

35	\$7,995.00	\$12,475.00	\$352.75
70	FALL 2021	\$24,190.00	
215	FY2021	\$75,055.00	

SPRING 2022 TREE SPECIES- HINSDALE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" Autumn Fest SUGAR MAPLE	5	\$227.00	\$1,135.00	\$25.00	\$95.50	\$1,737.50	\$347.50
2" 'Autumn Splendor' HORSECHESTNUT	10	\$259.00	\$2,590.00	\$25.00	\$95.50	\$3,795.00	\$379.50
2" AM HOPHORNBEAM (Ostrya virginiana)	5	\$256.00	\$1,280.00	\$25.00	\$95.50	\$1,882.50	\$376.50
2" EMERALD SUNSHINE ELM	10	\$226.00	\$2,260.00	\$25.00	\$95.50	\$3,465.00	\$346.50
2" FRONTIER ELM	10	\$226.00	\$2,260.00	\$25.00	\$95.50	\$3,465.00	\$346.50
2" 'EMPEROR' GINKGO	5	\$287.00	\$1,435.00	\$25.00	\$95.50	\$2,037.50	\$407.50
2" 'BEIJING GOLD' PEKIN LILAC	10	\$204.00	\$2,040.00	\$25.00	\$95.50	\$3,245.00	\$324.50
2" 'STERLING' SILVER LINDEN	10	\$205.00	\$2,050.00	\$25.00	\$95.50	\$3,255.00	\$325.50
2" 'CONTINENTAL APPEAL' AM. LINDEN	10	\$217.00	\$2,170.00	\$25.00	\$95.50	\$3,375.00	\$337.50
2" CHINQUAPIN OAK	10	\$252.00	\$2,520.00	\$25.00	\$95.50	\$3,725.00	\$372.50
2" SHINGLE OAK	10	\$252.00	\$2,520.00	\$25.00	\$95.50	\$3,725.00	\$372.50
2" 'EXCLAMATION' LONDON PLANETREE	5	\$215.00	\$1,075.00	\$25.00	\$95.50	\$1,677.50	\$335.50
E ENOLULIA DOLLO IN ELECTRICA	100		\$23,335.00			\$35,385.00	\$356.00

SPRING 2022 TREE SPECIES - GOODMARK	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'CRIMSON SUNSET' MAPLE	5	\$197.00	\$985.00	\$25.00	\$95.50	\$1,587.50	\$317.50
2" 'EMERALD POINTE' HARDY RUBBER TREE	5	\$186.00	\$930.00	\$25.00	\$95.50	\$1,532.50	\$306.50
2" 'EMERALD CITY' TULIPTREE	5	\$186.00	\$930.00	\$25.00	\$95.50	\$1,532.50	\$306.50
2" 'RED OBELISK' EUROPEAN BEECH	5	\$251.00	\$1,255.00	\$25.00	\$95.50	\$1,857.50	\$371.50
2" TRICOLOR BEECH	5	\$251.00	\$1,255.00	\$25.00	\$95.50	\$1,857.50	\$371.50
2" 'WORPLESDON' SWEETGUM	5	\$197.00	\$985.00	\$25.00	\$95.50	\$1,587.50	\$317.50
	30		\$6,340.00			\$9,955.00	\$331.83

SPRING 2022 TREE SPECIES- SPRING GROVE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'WINDY CITY' HACKBERRY	5	\$220.00	\$1,100.00	\$34.00	\$95.50	\$1,747.50	\$349.50
2" 'PERKINS PINK' AMERICAN YELLOWWOOD	10	\$258.00	\$2,580.00	\$34.00	\$95.50	\$3,875.00	\$387.50
2" 'FIREBIRD' CRABAPPLE	10	\$199.00	\$1,990.00	\$34.00	\$95.50	\$3,285.00	\$328.50
2" CRIMSON SPIRE OAK	5	\$255.00	\$1,275.00	\$34.00	\$95.50	\$1,922.50	\$384.50
2" WHITE OAK	10	\$273.00	\$2,730.00	\$34.00	\$95.50	\$4,025.00	\$402.50
	40		\$5,995.00			\$9,232.50	\$371.83

170 SPRING 2021 \$54,572.50

FALL 2022 TREE SPEC HINSDALE	CIES- QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" 'ESPRESSO' KENTUCKY COFFEETRE	E 5	\$248.00	\$1,240.00	\$25.00	\$95.50	\$1,842.50	\$368.50
2" 'SUGAR TYME' CRABAPPLE	5	\$154.00	\$770.00	\$25.00	\$95.50	\$1,372.50	\$274.50
2" 'BELJING GOLD' PEKIN LILAC	10	\$204.00	\$2,040.00	\$25.00	\$95.50	\$3,245.00	\$324.50
2" 'CHICAGOLAND' HACKBERRY	5	\$227.00	\$1,135.00	\$25.00	\$95.50	\$1,737.50	\$347.50
2" 'MAGYAR' GINKGO	5	\$287.00	\$1,435.00	\$25.00	\$95.50	\$2,037.50	\$407.50
2" 'TRIUMPH' ELM	5	\$226.00	\$1,130.00	\$25.00	\$95.50	\$1,732.50	\$346.50

35 \$7,750.00 \$11,967.50 \$344.83

FALL 2022	2 TREE SPECIES - SPRING GROVE	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
	2" 'NEW HORIZON' ELM	10	\$228.00	\$2,280.00	\$34.00	\$95.50	\$3,575.00	\$357.50
2"	'GREEN MOUNTAIN' SILVER LINDEN	10	\$214.00	\$2,140.00	\$34.00	\$95.50	\$3,435.00	\$343.50
2" 'I	IVORY PILLAR' JAPANESE TREE LILAC	10	\$258.00	\$2,580.00	\$34.00	\$95.50	\$3,875.00	\$387.50
			_					
		30		\$38,170.00			\$10,885.00	\$357.92
		65			FALL 2021		\$22,852.50	
		235			FY2021		\$77,425.00	